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Run 5434 quartetwise, PosHelAccO/NSamplas

=== Laser O -—
Entries: 4465
Mean: 14. 2027 &/- 00128
St Dhey: OLAS2E 0 D.00S0

=== Lager OFF ---
Enlries: 2220
Mean: 1 3885 «- 0.0041
Sid Dhey: 001950 = 00029
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Run 5434 quartetwise, Diffs)
=== Laser O -—
Entries: 4365

Mean: 0.7931 +- 0.0
Sbd Dey: 0.5062 & 0.0053

=== Laser OFF ---
Eniries: 2228
Mean: 0OESE +- 0.00562
Sid Drey: 02442 - 00037

Run 5434 quartetwize, Asyms(

=== Laser ON -—
Eniries: 4465
Mean: 31.8551 «/- 03046
Sid Dhev: 20,3560 +/- (L2154

=== Laser OFF ---
Eniries: 22208
Mean: 0.15837 «- 0. 5085
Sid Dey: S.8404 +~ 01474
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Run 5434 quartetwize, NegHalAcc)/NSamplas0

=== Laser O -—-
Entries: 4465
Mean: 1340096 - 000121
Sid Dev: OLAN05E & D.0DEE

=== Lager OFF ---
Enlries: 2220
Mean: 1 3847 «/- 0.0047
Sid Deyv: 01932 - 00029

Run 5434 quartetwize, Sums0

=== Laser O -—-
Eniries: 4465
Mean: 2767123 & 00237
Sid Dhev: 1.5848 - 00160

== Laser OFF ---
Eniries: 2228
Mean: 27932 +/- 0.0064
Sid Dev: 03016 &~ 0.0045
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Run 5434 quartetwize, Asyms4

— === Laser ON -—
— Eniries: 4465
= Mean: 32,1711 +- 0.2610
— Sid Dev: 18,7787 +- (L1287
— === Laser OFF ---
—— Eniries: 22208
— Mean: -0.0544 +/- 0.0851
:_ Sid Dey: 44808 - 00672
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Run 5434 quartetwise, Asyms USbg?

=== Laser O -—
Entries: 4465
Mean: -0.0072 /- DLOO5SS
Siad Dhey: 03928 - 00042

=== Lager OFF ---
Enlries: 2220
Mean: -0.00846 «/- 000EE
Sid Dhey: 03992 - 000D

. H . ._HHH.H:LGH;I]F\

Run 5434 quartetwize, Asyms DSbgl
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=== Laser O -—
Entries: 4465
Mean: -0.00068 «- 0001S
Sid Dhey: 0U1258 =~ 00073

=== Laser OFF ---
Eniries: 2228
Mean: -0.0030 «- 00026
Sid Dey: 001246 -~ 00078

Run 5434 quartetwise, Asyms Horiz Finger

=== Laser ON -—
Eniries: 4465
Mean: 00020 +- 0.0055
Sid Dey: 03658 +~ 000X

=== Laser OFF ---
Eniries: 22208
Mean: -0.0130 «- 00107
Sid Dhey: 0.5070 - D.00TE
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Run 5434 quartetwise, Asyms USbg2

=== Laser O -—-
Entries: 4465
Mean: 0U0040 +/- 0,004
Sid Dhev: 02747 &0 00029

=== Lager OFF ---
Enlries: 2220
Mean: 00072 «/- 0.DET
Sid Dhev: 02712 & 0.0041
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Run 5434 quartetwise, Asyms DSbg2

=== Laser O -—-
Eniries: 4465
Mean: -0.0022 «- 0001 7F
Sid Dev: 01150 &= 00072

== Laser OFF ---
Eniries: 2228
Mean: 00003 +- 0.0024
Sid Dev: 0017124 - 00017

Run 5434 quartetwize, Asyms Vert Finger

=== Laser O -—-
Eniries: 4465
Mean: 00140 +- 0.00480
Sid Dev: 02679 - 0.0020

== Laser OFF ---
Eniries: 2228
Mean: -0.0014 «/- 00OTE
Sid Dev: 0.3550 - 00053
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